
 –      –   

                   
                       
      

                –   –
                      
                         
                   

                   
                    
                     

          

          



Now let’s take what you just did and go a little further with it. 

Carlos and Carlita have found a way to represent combinations of cats and dogs that satisfy each of their individual “Pet 
Sitter” constraints, but they realize that they need to find combin        


                  
 

{32𝑐 + 80𝑑 ≤ 1280
6𝑐 + 24𝑑 ≤ 360

                  
    

                   
         

                     
               



                   
                 


                  
       

                    
 

                      
             

                  
                
  

               




